HOMEWORK ASSIGNMENT #11

ORGANIC CHEMISTRY I  (20 pts)

Due Wednesday 5 December 2012
Your name: __________answers_______________________________________________

Road map problems (20 pts total/4 pts per plausible pathway)
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Starting from 1-bromo-2-methylpropane suggest pathways to the compounds below:
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         From first problem
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From second problem
Or: 
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SN2 addition to ether











Corey-House Preparation of alkanes
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The original compound target was inadvertently 1 extra carbon long…If you selected  Corey House route you got full credit regardless of the fact that you can’t get a 9 carbon alkane from combining two 4 carbon substrates 





�








_1416160426

_1416160927

_1416161286

_1416160537

_1416160314

